Year 4 Answers and mark schemes: Spring fest 1

Spring test 1

Answer Area |Mark|Domain| Extra information
1 I;] I;] I;] G 1 G5
Because it is hot today everyone must wear sunscreen.
2 | did G 1 G4
3 | We tried to jump the waves as they came in to the beach. G 1 G1 Award 1 mark for both correct.
4 | The boys' team won the cup. P 1 G5
5| Word Adjective G 1 G1  |Award 1 mark for both correct.
happy v
kindness
beauty
careful v
6| the oran G 1 G1
7 | When can we go to visit the zoo? P 1 G5
8|/ G 1 G2 | Award 1 mark for all correct.
9 | babies, horses, socks G 1 G6 | Award 1 mark for all correct.
10 | an adjective = C G 1 G2 | Award 1 mark for all correct.
averb=B
anoun=A
1| G 1 G1 | Award 1 mark for all correct.
_we_ _our
12 |I'm P 1 G5 |Award 1 mark for both correct.
don't
13 | Accept answers which make sense such as: G 1 G3
| will tidy my room while Mum makes my tea/l listen to music.
14 | have been watching G 1 G4
15 |"The dog has eaten my dinner!" cried Alexis. P 1 G5
16 | after G 1 G3
17 | Accept answers which refer to marking the opening of a sentence, e.g. to show P 1 G5
they are beginning/to show it is the start.
18 |-ous \ 1 G6
19 |in orinside G 1 G1
20 | Accept any two answers that make sense such as: My favourite/new/oldest/ G 1 G1 Award 1 mark for both correct.
fluffy/worn-out jumper is red.
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